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COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

Direct supervision over depositories
and mutual funds is undertaken by
(A) NBFCs

(B) RBI

(C) SEBI

(D) All of the above

In the call/notice money market,

which of the following participants is

allowed to trade ?

(A) All Banks, Primary Dealers and
Mutual Funds

(B) All Corporates

(C) Only Commercial Banks

(D) All of the above

Match the items of List-1 with the
items of List-11 and select the correct

answer :
List—1 List—11

(i) Private (a) Secondary
ownership Market
and Free
Enterprise.

(i) Government  (b) Capitalism
ownership
and Central
Authority.

(i) The market (c) Primary
for the sale Market

and purchase
of previously
issued
securities.

(iv) The market (d) Socialism
for new long
term capital.

Codes :

(i) () (i) (iv)

(A) (b) (d) (a) (c)

B) @ (b) () (d)

(C) (b) (d) (c) (a)

(D) (@ () (b (d)

Paper-I1

The apex consumer court in India is
referred to as

(A) The Consumer Education and
Research Centre.

(B) The Consumer Unity and Trust
Society.

(C) National Consumer Disputes
Redressal Commission.

(D) None of the above

Who is Chairman of 13" Finance
Commission ?

(A) Dr. C. Rangarajan

(B) Mr. Vimal Jalan

(C) Dr.Vijay C. Kelkar

(D) None of the above

Insurance expenses paid to bring an
equipment from the place of
purchase to the place of installation is
a type of

(A) Revenue expenditure

(B) Capital expenditure

(C) Deferred revenue expenditure
(D) Operating expense

ABC Ltd was incorporated with
an authorised Share Capital of
T 1,00,000 equity shares of T 10
each. The Board of Directors of the
company decided to allot 10,000
shares credited as fully paid to the
promoters of the company for their
services. Which account should be
debited in the books of ABC Ltd. ?

(A) Promoters’ Account
(B) Services Account

(C) Goodwill Account
(D) Share Capital Account
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10.

11.

In a reconstruction scheme, the
reduction of capital may take the
form of

(A) Reducing the liability of the
shareholders in respect of any
unpaid amount on the shares
held by them.

(B) Paying-off any paid-up share
capital which is in excess of its
requirement.

(C) Cancelling any paid-up share
capital which is lost or
unrepresented by available
assets.

(D) All of the above.

While determining the normal rate of

return for the valuation of shares in

Market Value Method, which of the

following should be taken into

consideration ?

(A) The degree of risk involved.

(B) The current rate of interest on
gilt-edged securities.

(C) Weighted average cost of
capital.

(D) All of the above.

Master budget is a

(A) Functional Budget
(B) Operating Budget
(C) Summary Budget

(D) Financial Budget

Assertion (A) Want-satisfying
power of a commodity is called
its utility.

Reason (R) : Utility may not have
the characteristic of morality.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is not

correct.

(C) Both (A) and (R) are not
correct.

(D) (R) is correct, but (A) is not
correct.

Paper-I1

12.

13.

Match the items of List-l1 with those
in List-1l and select the correct code
for the answer :

List—1 List— 11
(@) Contraction (i) Non-Price
of Demand change effect

(b) Decrease
in Demand

(i) Demand curve
remains  the
same

(c) Increase in (iii) Price change
Demand effect

(iv) Shifts the
Demand curve

(d) Expansion
of Demand
Codes :

@ (b)) () ()
(A) (i) (i) (v) (i)
(B) (iv) (iii) (i) (i)
€ (@) (i) (ii) (iv)
(D) (i) (v) () (i)

Assertion (A) : As the proportion of
one variable factor in a
combination with fixed factor
is increased, after a point the
marginal product of the factor
will diminish.

Reason (R) : Beyond the level of
optimum combination of inputs

leads to this.

Codes :

(A) (R) is appropriate reason of
(A).

(B) (R) is not appropriate reason of
(A).

(C) (A) and (R) are not related with
each other.

(D) (A) is independent of (R).
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14.

15.

16.

Match the items of List-1 with the
items of List-1l1 and select the correct
answer.

List-1 List— 11
(@) Indifference (i) Slopes

Curve downward to
the right

(b) Demand (i) P=AR=MR=d
Curve

(c) Perfect (iii) Oligopoly
Comepetition

(d) Price (iv) Convex to
Leadership the origin

Codes :

@ () «© (@
(A) (i) (i) (iv) ()
(B) (i) (iv) (1) (i)
(€ (v) () (i) (i)
(D) () (i) (i) (iv)

Price, Marginal Revenue and
Elasticity are related to each other.
Whene =1, then :

(A) MR>0
(B) MR<O
(C) MR=0
(D) MR=1

Consider the following statistical
tests :

(i) ‘F’ test
(i)  “t’ test
(iii) “z’ test

(iv) “Chi-square’ test

Which of these are parametric tests ?
(A) (i), (ii) and (iv)

(B) (i), (iii) and (iv)

(C) (i), (i) and (iii)

(D) (i), (iii) and (iv)
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17.

18.

19.

The difference between
statistic and its
population parameter is
(A) Sampling error
(B) Measurement error
(C) Coverage error

(D) Non-response error

sample
corresponding

Match the items in List-1 with items
in List-11.

List—1 List— 11
(i) Level of (a) Sample
significance mean §
equal to
population
mean
(it) Standard (b) Parameters
deviation of
sampling
distribution
(i1i)) Numerical (c) Type-I
value  that error
describes the
characteristi
cs of the
population
(iv) Normally- (d) Standard
distributed error
population
Codes :
() @) (i) (iv)

(A) @ (© (@@ (b
(B) (© @ b (@
€ © B @ @
O @ ® © @

Kendall’s co-efficient of

concordance is used to

(A) Test the difference among two
or more sets of data.

(B) Test the relationship between

variables.

(C) Test the variations in the given
data.

(D) Test the randomness of
samples.
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20.

21.

22.

Which of the following softwares are
used for data processing ?

(i) EXCEL

(i) ACCESS

(iii) SPSS

(iv) STAR

(v) PASW

Codes :

(A) (i), (i), (iii) and (V)
(B) (i), (iii), (iv) and (v)
(C) (iii) and (iv)

(D) (), (iii) and (iv)

Match the items of List-l1 with the
items of List-11 and select the correct
answer.

List— 1 List— 11
(i) Grapevine (a) Task
group
(i) Formal (b) Field force
group theory
(iii) Informal (c) Gossip
group
(iv) KurtLewin (d) National
group
Codes :
() @) (i) (iv)

(A) © @ @ (O
(B) (d () (b) ()
€ @ ({®) () ()
(D) (b) (& (d (o)

Who has suggested that achievement
motivation among individuals and
nations can be developed through
training courses ?

(A) MeClelland
(B) Alderfer
(C) Maslow
(D) Herzberg

Paper-I1

23.

24,

25.

26.

Assertion (A) When span of
control is wide co-ordination
and control becomes difficult.

Reason (R) : In a narrow span, levels
of authority reduces.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

The general pattern of behaviour,
shared belief and values that
members have in common is known
as

(A) Organisation climate
(B) Organisation culture
(C) Organisation effectiveness
(D) Organisation matrix

Which of the following is not a
principle of management according
to Henri Fayol ?

(A) Subordination of individual
interest over the organisational
interest

(B) Esprit de crops.
(C) Unity of Managers
(D) Unity of Direction

Which of the following concepts is
based on development, design and
implementation of marketing
programmes, processes and activities
that recognise their breadth and
interdependence ?

(A) Product concept

(B) Sales concept

(C) Societal marketing concept

(D) Holistic marketing concept
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217.

28.

29.

The concept of marketing-mix,
consisting of the 4 P’s of marketing,
was developed by

(A) E. Jerome McCarthy
(B) Peter F. Drucker

(C) Philip Kotler

(D) William J. Stonton

The selling concept is most likely to
be used by firms which sell

(A) Convenience goods
(B) Shopping goods
(C) Speciality goods
(D) Unsought goods

Match the items of List-1 with those
of List-1l and select the correct
answer from the codes given below :

List— 1 List—11
(@) Everitt (i) Service
M. Rogers Quality
Model
(b) J.D. Power (if) Three types
of
marketing

for services
(c) Parasuraman, (iii) Quality

Zeithaml and rating of
Berry automobiles
(d) Gronroos (iv) Diffusion of
innovation
Codes :

@ ® (@© (@
(A) (i) @) @ (v)
(B) () (i) (i) (iv)
€ (i) () (@v) (i)
(D) (v) (i) () (i)

Paper-I1

10

30.

31.

32.

33.

34.

Consumer attitudes and beliefs about
diet, health and nutrition are
influenced by

(A) Economic environment
(B) Cultural environment
(C) Social environment
(D) Natural environment

Positive NPV in project appraised by
a firm may not occur an account of

(A) Economics of scale
(B) Market reach

(C) Product differentiation
(D) Intangible benefits

In case the projects are divisible
under capital rationing an appropriate
project appraisal method is

(A) Net Present Value Method

(B) Profitability Index Method

(C) Internal Rate of Return Method
(D) Payback Period Method

Permanent working capital s
generally financed through

(A) Long term Capital Funds
(B) Government Assistance

(C) Internal Financing

(D) Short term loans from Banks

The appropriate ratio for indicating
liquidity crisis is

(A) Operating ratio

(B) Sales turnover ratio

(C) Current ratio

(D) Acid test ratio
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(i) Sarn Turer Hied

(b) ST (i) Fanet & faw A=

THR &

(c) T¥gIHA, (iii) H1eT HRT <l TToTE
fSteret 31X T HUTHOT
LRy

(d) Teg
HE

(=N

(iv) TTavET 1 E0T

@ (b «© @
(A) (i) @) @ (v)
(B) (@) (i) (i) (iv)
€ (i) (@) (v) (i)
(D) (v) (i) (i) (i)
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30.

31.

32.

33.

34.

SR, T LT WHOT o IR H STV
I Mgt Td uRumd fEErEd %
(A) =Tfes aTameRoT
(B) Wpicieh ATATEROT
(C) WM ATATaRoT
(D) VT ATATERoT
® gR URESTT % gedie W

o [N e

HHRIHF IF THH T H=rerad &

(A) Y9l fdetat

(B) Taufur Tegem

(C) 3o fervRreRTor

(D) oFd

gl qoft Teor & orrid uREisHg
forIeTr &, T SUga aRArSTT qodind
LA RS

(A)
(B) TS FAhih T5ic
(C) oT=ieh Uea™ ST Ui
(D) YA SFaty Ui

I FAHH od UFd

TR A ST QT foraid
Bl &

(A) Srdepierss STt A g
(B) IR Wl 51T

(C) errees famaiooT gRT
(D) i ¥ STeUhIfctsh FOT §RT

Al Fohe Jrad & & o aqrad
S &

(A) URETeH 3|

(B) foskar st erqu

(C) =] rgard

(D)  3TReT TRIETOT ST
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35.

36.

37.

38.

Who proposed a model to apply
economic order quantity concept of
inventory management to determine
the optimum cash holding in a firm ?

(A) Keith V. Smith
(B) Miller and Orr

(C) William J. Baumol
(D) J.M. Keynes

Which of the following is not
included in the model of the systems
approach to Human Resource
Management ?

(A) Human Resource Planning
(B) Recruitment and Selection
(C) Performance appraisal

(D) Departmentation

It is generally easy to measure the
performance of the

(A) Industrial Relations Manger

(B) Research and Development
Manager

(C) Sales person
(D) All of the above

Which one of the following is not a
monetory incentive to sales people ?

(A) Bonus
(B) Staff meeting
(C) Travelling allowance

(D) Both (B) and (C)
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39.

40.

41.

Statement (i) : Sound industrial
relations are essential to
achieve individual, team goals
and organizational goals.

Statement (ii) : Congenial labour
management relations create an
atmosphere of harmony and
low rate of absenteeism.

(A) Statement (i) is true, but (ii) is
false.

(B) Statement (ii) is true, but (i) is
false.

(C) Both statements are true.
(D) Both statements are false.

Out of the following, which are the
schemes of Social Security ?

(i)  Provident Fund Scheme
(i)  Health Insurance Scheme
(iii) Job Guarantee Scheme
(iv) Maternity Benefit Scheme
(v)  Merit Promotion Scheme

(vi) Compulsory and Voluntary
Social Insurance Scheme

(vii) Child Insurance Scheme
Codes :

(A) (i), (i), (iv) and (vi)

(B) (ii), (i), (v) and (vii)

(C) (iii), (v), (iv) and (vi)
(D) (iv), (vii), (iii) and (ii)

RBI ensures that banks operate
within the set norms by conducting
inspections and

monitoring.

(A) on site, off site
(B) off site, on site
(C) onsite, field
(D) field, on site
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35. WH T JFHody THaT gRUT Ui HA
& o0 Ty Uy ot et STewr 9

(EOQ) I TR HE & HISe (ohe

TRATTAd TR 2

(A) . R
(B) TooR wd 3R
(C) faferem =¥, dwiet
(D) ST H

36. HME TEEE TS & df UM Higel |
frefoftaa § & w1 gaifae 78 & 2

(A) AT TEEA S
(B) it Ud =@

(C) Toume woaieh
(D) fawmiRYor

37. fogd FUEE = 99 gEE 9t W
A BT e ?

(A) 3T Traw Tawes
(B) iy U faehd wergs
(C) forhashal
(D) ST =+t

38. fomhareni % fow  Hifgw  wicHwd
fafafaa S d s = € 2

(A) a9

(B) wIw HifeT
(C) Fmm v

(D) (B) &R (C) T
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39.

40.

41.

iR (i) ;Ao Solid ool aen
IS el i T A & ot
o SR Ty T § |

AMTHA (i) : FTHA IH T T
0T STATEROT @
! T 3 g = € |

(A) (i) T & W= (ii) T T |
(B) (i) Ta & W= (i) A ¥ |
(C) T FHIAE |
(D) T HH A E |

AT T o @i FEfated § 9
G E 2

(i) wfesy ffy @om

(i) e d w=m

(iii)  Sit/adfs F1 TR @

(iv) g wgfeer @

(V) T Gaed e

(vi) 3THa wa wWifess qmists o

=
(vii) aTeT ST T
FT
(A) (i), (i), (iv) 3R (vi)
(B) (i), (i), (v) 3T (vii)
(C)  (iii), (v), (iv) 3R (vi)
(D) (iv), (vii), (iii) 37 (ii)

gRaE e 9 fRieton aen
R (@1 AR & OgRT

TE gHved & & % d% feifa

AMEUS! o 3T i Hid & |

(A) 3 EIEe, ATH |iee

(B) 3 HIgE, 3 I3

(C) 3f7 uree, &

(D) &3, 37 arRe
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42.

43.

44,

45.

Under Section 37 of the Banking
(Regulation) Act, a moratorium order
can be issued by the High Court for a
maximum total period of

(A) One month

(B) Six months

(C) One year

(D) One and a half year

Bonds or debentures issued by
Securitization company should bear
interest not less than

(A) Bank Rate

(B) Prime Lending Rate

(C) 1.5% over the Bank Rate
(D) 1.5% over the Saving Rate

Section 131 of the Negotiable
Instruments Act extends protection to
the

(A) Collecting Banker
(B) Paying Banker

(C) Advising Banker
(D) Confirming Banker

When a customer, by a letter has
advised the bank not to honour/pay a
particular cheque, such letter is called

(A) Cancellation letter
(B) Garnishee letter
(C) Mandate

(D) None of the above

46.

47.

48.

49.

50.

Paper-I1

Flow of foreign loans and
investments affect

(A) Trade balance

(B) Current Account balance
(C) Capital Account balance
(D) None of the above

Concessions mainly multinational in
character come under the principle of

(A) Non-discrimination
(B) Reciprocity

(C) Market Access

(D) Fair Competition

From the following identify the one
which is not a commercial counter
trade ?

(A) Classical barter

(B) Counter purchase
(C) Pre-compensation
(D) Buy-back agreement

If the spot price is higher than the
strike price in a call option, it is
referred to as

(A) At-the-money

(B) In-the-money

(C) Out-of-the-money
(D) Premium

Identity the item which does not
include under Current Account
transaction.

(A) Services

(B) Non-monetary movement of
gold

(C) Unilateral transfer
(D) Investment income
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42.

43.

44,

45.

Step faftraua Afutaw & 9wt 37 &
FaE, I=9 AEed R RO T
VT 3MTyhaT FoT fohcHT 21aty & ford
STRY TR ST Gepe1 € 2

(A) T T

(B) ® WH

(C) uwHay

(D) Tgad

T fehoT ST G i &g o=
RO W Eiad ¥ F9 S @
AT =TT

(A) TH

(B) TH T UG ST
(C) THITH 1.5% W

(D) sEA T 1.5% SR

W faore sufam =t 9rr 131
fferfiae e i qeer It &

(A) et oY
(B) 37Tl ST
(C) T S
(D) feeehT BT

o Ew ¥ F% T F PR IF H

d{{orlchl{ h{H T IHhI “i‘l(‘ll"i T h{A éh‘
forT o 37 Weme fean € o @ w o
FEATdT & 2

(A) TR Tt
(B) TRTeM o=

(C) afaswr

(D) SUIH H ¥ HiE T&l

46.

47.

48.

49.

50.
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fastt o1 wd o & uaw wetad
HAT &

(A) TR Iqe i

(B) Te] W Wl i
(C) TirTet e Hgert
(D) SWE H ¥ T Tl

Ramd ST ;. agued WET HOE,

forer fagT=r o ofaia o7t & 2
(A) T fordea

(B) IR (TRH-IRH)
(C) ISR T

(D) =arEied AT

frefefad & & =i | anfortsge uiaert
TR &l ¢ ?

(A) FEERR T fafm

(B) wid &RIT T STael Tig

(C) d

(D) ATIH-THE AT

‘FieA AW’ (FF foTwRed AT SRuS
fasha sfyepr) W afg Bl IM (Wi
TEH) ST TH (¥ UE4) i o
T STET & T TH 1 @l A § 2

(A) TeaLTA
(B) AT
(C) 3-S5
(D) ifgag

6] @Al o e & S HE d TS
T T8 Bl € 2

(A) Famd

(B) @i &t IR-Hifger foramd
(C) UH-ueir geicor

(D) et o
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